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2015HIE %= 2 8l US| MEBOIHME
S MEOIEME
A Al MEONY DS
9l RObS MBOIAFE CER-ED
SA-ZH () - HRAY - BES Off &4 JEH Hns2Z
M0 MIE] 7,783,856 7,710,977 72,879
= 116,000 116,000 0
T 690,000 690,000 0
= 459,000 560,000 A 101,000
Al 6,518,856 6,344,977 173,879
AlDl MEolFY & 7,537,597 7,484,489 53,108
= 116,000 116,000 0
T 690,000 690,000 0
= 459,000 560,000 A 101,000
Al 6,272,597 6,118,489 154,108
RODbs MBI 62,621 61,541 1,080
IS=aY o Hel 29,651 28,571 1,080
201 Lt 2| 11,371 5,371 6,000
02 22| 8,588 2,588 6,000
CEESEEVEES/T:))
1,000,0008 * 204 * 3742 6,000 0 6,000
401 A& HIL 2O b 5,080 10,000 A 4,920
01 Al& I 5,080 10,000 A4,920
OBLE D UE 5,080,000 5,080 10,000 A4,920
CCTV JIBHo] AbSlQtE g =) 6,865,948 6,922,948 A57,000
= 116,000 116,000 0
T 690,000 690,000 0
= 459,000 560,000 A 101,000
Al 5,600,948 5,556,948 44,000
ZSSDU OCTV S 725 394,000 520,000 A 126,000
= 116,000 116,000 0
< 278,000 404,000 A126,000
307 0I2H0| & 48,000 288,000 240,000
= 48,000 288,000 240,000
05 PI2t9 el 48,000 288,000 240,000
OCCTV SSRRME 2UEY 84|
2,000,0002! * 8% * 38 48,000 288,000 240,000
= 48,000 288,000 240,000
IR 346,000 232,000 114,000
= 116,000 116,000 0
= 230,000 116,000 114,000
01 Al& I 344,328 230,328 114,000
OZSSDU CCTV SSRMME HHAAY T
=(20h) 114,000,0002 * 14! 114,000 0 114,000
= 114,000 0 114,000
MEYYE LTV 2E(TH) 25,000 0 25,000
= 25,000 0 25,000
401 A& HIL 2O bI 25,000 0 25,000
= 25,000 0 25,000
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Ch2l: CCTV JIBHe| AbS|otM I E (Y (CHe &)
SA-ZH () - HRAY - BES Off &4 JEH Husz
01 A& bl 25,000 0 25,000
OMEdr#HE CCTV £X 25,000 0 25,000
Oogd CCTVAERI (B8 H)
25,000,000 * 14 25,000 0 25,000
< 25,000 0 25,000
MEgtHE CTV 2= 326,774 282,774 44,000
401 AIEBIZ 201 8] 326,774 282,774 44,000
01 A& HI 324,427 280,427 44,000
OMELHE CCTVEE 44,000 0 44,000
O3 Atdl 22,000,000& * 204 A 44,000 0 44,000
ANQHESHEH 2= 609,028 500,000 109, 028
ANQIOHM S HIEH 29 109,028 0 109, 028
201 L2l 1,028 0 1,028
02 3322l 1,028 0 1,028
OARIHMBHEH 2 1,028 0 1,028
OdEad AEZ
132,000& = 23] & * 201 & 528 0 528
OHNStLSMS AHEZ
250,000& = 13l& = 204 & 500 0 500
307 21201 A 108,000 0 108,000
05 RIZt2IEt = 108,000 0 108,000
OANQIHEBHE £
2,700,000& * 2098 * 204 & 108,000 0 108,000
HE2H I (MEOIMMEH) 244,433 224,662 19,771
ol 2 gl 200,131 179,770 20,361
ol | 200,131 179,770 20,361
101 124 dl 200,131 179,770 20,361
01 2= 34,212 13,851 20,361
OANZHQAZ RS (LBHAN)(XZ2IHH)
8,930& = 30AlIZt = 19 = 404& 20,361 0 20,361
Jl=234l 44,302 44,892 A 590
Jl23Hl 44,302 44,892 A 590
201 £B-2dH| 20,205 20,412 A 207
01 At 22/l 20,205 20,412 A 207
OJ2gRsHESH I (ZXIHE) 7,927,000 7,927 8,344 AN4T7
OSHI(ZZIHH) 8,778,000& 8,778 8,568 210
202 4Hl 19,897 20,280 A 383
01 = LH YI 15,817 16,200 A 383
OJIEZHI(Z=HINH) 15,817,000& 15,817 16,200 A 383




